
w
w
w
.c
a
re
e
ri
n
d
ia
.c
o
m

ΓΑΤΕ 2016  Γενεραλ Απτιτυδε − ΓΑ Σετ−2 

 1/3

Q. 1 – Q. 5 carry one mark each. 

Θ.1 Τηε ϖολυmε οφ α σπηερε οφ διαmετερ 1 υνιτ ισ ________ τηαν τηε ϖολυmε οφ α χυβε οφ σιδε 1 υνιτ. 

(Α)   λεαστ (Β)   λεσσ (Χ)   λεσσερ (D)   λοω 

 

 

Θ.2 Τηε υνρυλψ χροωδ δεmανδεδ τηατ τηε αχχυσεδ βε _____________ ωιτηουτ τριαλ. 

(Α)   ηανγεδ (Β)   ηανγινγ (Χ)   ηανκερινγ (D)   ηυνγ 

 

 

Θ.3 Χηοοσε τηε στατεmεντ(σ) ωηερε τηε υνδερλινεδ ωορδ ισ υσεδ χορρεχτλψ: 

 

(ι) Α προνε ισ α δριεδ πλυm. 

(ιι) Ηε ωασ λψινγ προνε ον τηε φλοορ. 

(ιιι) Πεοπλε ωηο εατ α λοτ οφ φατ αρε προνε το ηεαρτ δισεασε. 

 

(Α)   (ι) ανδ (ιιι) ονλψ (Β)   (ιιι) ονλψ (Χ)   (ι) ανδ (ιι) ονλψ  (D)   (ιι) ανδ (ιιι) ονλψ  

 

 

Θ.4 Fact: Ιφ ιτ ραινσ, τηεν τηε φιελδ ισ ωετ. 

 

Ρεαδ τηε φολλοωινγ στατεmεντσ: 

(ι) Ιτ ραινσ 

(ιι) Τηε φιελδ ισ νοτ ωετ 

(ιιι) Τηε φιελδ ισ ωετ 

(ιϖ) Ιτ διδ νοτ ραιν 

 

Wηιχη ονε οφ τηε οπτιονσ γιϖεν βελοω ισ NOT λογιχαλλψ ποσσιβλε, βασεδ ον τηε γιϖεν φαχτ? 

(Α)   Ιφ (ιιι), τηεν (ιϖ). (Β)   Ιφ (ι), τηεν (ιιι). 

 

(Χ)   Ιφ (ι), τηεν (ιι). (D)   Ιφ (ιι), τηεν (ιϖ). 

 

 

Θ.5 Α ωινδοω ισ mαδε υπ οφ α σθυαρε πορτιον ανδ αν εθυιλατεραλ τριανγλε πορτιον αβοϖε ιτ. Τηε βασε οφ 

τηε τριανγυλαρ πορτιον χοινχιδεσ ωιτη τηε υππερ σιδε οφ τηε σθυαρε. Ιφ τηε περιmετερ οφ τηε ωινδοω ισ 

6 m, τηε αρεα οφ τηε ωινδοω ιν m2 ισ ___________. 

 

(Α)   1.43 (Β)   2.06 (Χ)   2.68 (D)   2.88 
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Q. 6 – Q. 10 carry two marks each.  

Θ.6 Στυδεντσ τακινγ αν εξαm αρε διϖιδεδ ιντο τωο γρουπσ, P ανδ Q συχη τηατ εαχη γρουπ ηασ τηε σαmε 

νυmβερ οφ στυδεντσ. Τηε περφορmανχε οφ εαχη οφ τηε στυδεντσ ιν α τεστ ωασ εϖαλυατεδ ουτ οφ 200 

mαρκσ. Ιτ ωασ οβσερϖεδ τηατ τηε mεαν οφ γρουπ P ωασ 105, ωηιλε τηατ οφ γρουπ Q ωασ 85. Τηε 

στανδαρδ δεϖιατιον οφ γρουπ P ωασ 25, ωηιλε τηατ οφ γρουπ Q ωασ 5. Ασσυmινγ τηατ τηε mαρκσ ωερε 

διστριβυτεδ ον α νορmαλ διστριβυτιον, ωηιχη οφ τηε φολλοωινγ στατεmεντσ ωιλλ ηαϖε τηε ηιγηεστ 

προβαβιλιτψ οφ βεινγ TRUE? 

(Α)   Νο στυδεντ ιν γρουπ Q σχορεδ λεσσ mαρκσ τηαν ανψ στυδεντ ιν γρουπ P. 

 

(Β)   Νο στυδεντ ιν γρουπ P σχορεδ λεσσ mαρκσ τηαν ανψ στυδεντ ιν γρουπ Q. 

 

(Χ)   Μοστ στυδεντσ οφ γρουπ Q σχορεδ mαρκσ ιν α ναρροωερ ρανγε τηαν στυδεντσ ιν γρουπ P. 

 

(D)   Τηε mεδιαν οφ τηε mαρκσ οφ γρουπ P ισ 100.  

 

 

Θ.7 Α σmαρτ χιτψ ιντεγρατεσ αλλ mοδεσ οφ τρανσπορτ, υσεσ χλεαν ενεργψ ανδ προmοτεσ συσταιναβλε υσε οφ 

ρεσουρχεσ. Ιτ αλσο υσεσ τεχηνολογψ το ενσυρε σαφετψ ανδ σεχυριτψ οφ τηε χιτψ, σοmετηινγ ωηιχη χριτιχσ 

αργυε, ωιλλ λεαδ το α συρϖειλλανχε στατε.  

 

Wηιχη οφ τηε φολλοωινγ χαν βε λογιχαλλψ ινφερρεδ φροm τηε αβοϖε παραγραπη? 

 

(ι) Αλλ σmαρτ χιτιεσ ενχουραγε τηε φορmατιον οφ συρϖειλλανχε στατεσ. 

(ιι) Συρϖειλλανχε ισ αν ιντεγραλ παρτ οφ α σmαρτ χιτψ. 

(ιιι) Συσταιναβιλιτψ ανδ συρϖειλλανχε γο ηανδ ιν ηανδ ιν α σmαρτ χιτψ. 

(ιϖ) Τηερε ισ α περχεπτιον τηατ σmαρτ χιτιεσ προmοτε συρϖειλλανχε. 

 

(Α)   (ι) ανδ (ιϖ) ονλψ (Β)   (ιι) ανδ (ιιι) ονλψ 

 

(Χ)   (ιϖ) ονλψ (D)   (ι) ονλψ 

 

 

Θ.8 Φινδ τηε mισσινγ σεθυενχε ιν τηε λεττερ σεριεσ. 

 

Β, ΦΗ, ΛΝΠ, _ _ _ _. 

 

(Α)   ΣΥWΨ (Β)   ΤΥςW (Χ)   ΤςΞΖ (D)   ΤWΞΖ 

 

 

Θ.9 Τηε βιναρψ οπερατιον ゴ ισ δεφινεδ ασ a ゴ b = ab+(a+b), ωηερε a ανδ b αρε ανψ τωο ρεαλ νυmβερσ. 

Τηε ϖαλυε οφ τηε ιδεντιτψ ελεmεντ οφ τηισ οπερατιον, δεφινεδ ασ τηε νυmβερ x συχη τηατ a ゴ x = a, φορ 

ανψ a, ισ           . 

 

(Α)   0 (Β)   1 (Χ)   2 (D)   10 

 

  



w
w
w
.c
a
re
e
ri
n
d
ia
.c
o
m

ΓΑΤΕ 2016  Γενεραλ Απτιτυδε − ΓΑ Σετ−2 

 3/3

Θ.10 Wηιχη οφ τηε φολλοωινγ χυρϖεσ ρεπρεσεντσ τηε φυνχτιον ݕ ൌ lnሺȁ݁ሾȁୱ୧୬ ሺȁ௫ȁሻȁሿȁሻ φορ ȁݔȁ ൏   ?ߨʹ

Ηερε, ݔ ρεπρεσεντσ τηε αβσχισσα ανδ ݕ ρεπρεσεντσ τηε ορδινατε. 

 

(Α)    

 

 

(Β)    

 

(Χ)    

 

(D)    

 

 

END OF THE QUESTION PAPER 
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Q. 1 – Q. 25 carry one mark each. 

 

Θ.1 Wηιχη ονε οφ τηε φολλοωινγ ισ αν ιτερατιϖε τεχηνιθυε φορ σολϖινγ α σψστεm οφ σιmυλτανεουσ λινεαρ 

αλγεβραιχ εθυατιονσ? 

(Α)  Γαυσσ ελιmινατιον (Β)  Γαυσσ−ϑορδαν 

(Χ)  Γαυσσ−Σειδελ (D)  ΛΥ δεχοmποσιτιον 

 

 

Θ.2 Τηε Λαπλαχε τρανσφορm οφ  ε σινατ βτ ισ  

(Α)

 
 2 2

β

σ α β 
 (Β)

 
 2 2

σ α

σ α β



 
 

(Χ)

 

 
 2 2

σ α

σ α β



 
 (D)

 
 2 2

β

σ α β 
 

 

 

Θ.3 Wηατ αρε τηε mοδυλυσ  ρ  ανδ αργυmεντ   οφ τηε χοmπλεξ νυmβερ 3 4ι  ? 

(Α)

 

1 4
7, ταν

3
ρ       

 
 (Β) 1 3

7, ταν
4

ρ       
 

 

(Χ)

 

1 3
5, ταν

4
ρ       

 
 (D) 1 4

5, ταν
3

ρ       
 

 

 

 

Θ.4 Α λιθυιδ mιξτυρε οφ ετηανολ ανδ ωατερ ισ φλοωινγ ασ ινλετ στρεαm Π ιντο α στρεαm σπλιττερ.  Ιτ ισ σπλιτ 

ιντο τωο στρεαmσ, Θ ανδ Ρ, ασ σηοων ιν τηε φιγυρε βελοω.  

 

 

 

 

 

 

 

 

Τηε φλοωρατε οφ Π, χονταινινγ 30 mασσ% οφ ετηανολ, ισ 100 κγ/η. Wηατ ισ τηε λεαστ νυmβερ οφ 

αδδιτιοναλ σπεχιφιχατιον(σ) ρεθυιρεδ το δετερmινε τηε mασσ φλοωρατεσ ανδ χοmποσιτιονσ (mασσ%) οφ 

τηε τωο εξιτ στρεαmσ?   

(Α)  0 (Β)  1 (Χ)   2 (D)   3 

 

 

Θ.5 Τηε παρτιαλ mολαρ εντηαλπψ (ιν κϑ/mολ) οφ σπεχιεσ 1 ιν α βιναρψ mιξτυρε ισ γιϖεν βψത݄ଵ ൌ ʹ െ ͸Ͳݔଶଶ ൅ ͳͲͲݔଵݔଶଶǡ  ωηερε ݔଵ ανδ ݔଶ αρε τηε mολε φραχτιονσ οφ σπεχιεσ 1 ανδ 2, 

ρεσπεχτιϖελψ.  Τηε παρτιαλ mολαρ εντηαλπψ (ιν κϑ/mολ, ρουνδεδ οφφ το τηε φιρστ δεχιmαλ πλαχε) οφ 

σπεχιεσ 1 ατ ινφινιτε διλυτιον ισ _______ 

 

 

P 

Q

R
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Θ.6 Φορ α φλοω τηρουγη α σmοοτη πιπε, τηε Φαννινγ φριχτιον φαχτορ ሺ݂ሻ ισ γιϖεν βψ ݂  ൌ ݉Reି଴Ǥଶ ιν τηε 

τυρβυλεντ φλοω ρεγιmε, ωηερε Re ισ τηε Ρεψνολδσ νυmβερ ανδ ݉ ισ α χονσταντ. Wατερ φλοωινγ 

τηρουγη α σεχτιον οφ τηισ πιπε ωιτη α ϖελοχιτψ 1 m/σ ρεσυλτσ ιν α φριχτιοναλ πρεσσυρε δροπ οφ 10 κΠα. 

Wηατ ωιλλ βε τηε πρεσσυρε δροπ αχροσσ τηισ σεχτιον (ιν κΠα), ωηεν τηε ϖελοχιτψ οφ ωατερ ισ 2 m/σ? 

(Α)  11.5 (Β)  20 (Χ)   34.8 (D)   40 

 

 

Θ.7 Ιν α χψχλονε σεπαρατορ υσεδ φορ σεπαρατιον οφ σολιδ παρτιχλεσ φροm α δυστ λαδεν γασ, τηε σεπαρατιον 

φαχτορ ισ δεφινεδ ασ τηε ρατιο οφ τηε χεντριφυγαλ φορχε το τηε γραϖιτατιοναλ φορχε αχτινγ ον τηε παρτιχλε. 

Σρ δενοτεσ τηε σεπαρατιον φαχτορ ατ α λοχατιον (νεαρ τηε ωαλλ) τηατ ισ ατ α ραδιαλ διστανχε ρ φροm τηε 

χεντρε οφ τηε χψχλονε. Wηιχη ονε οφ τηε φολλοωινγ στατεmεντσ ισ ΙΝΧΟΡΡΕΧΤ? 

(Α)  Σρ δεπενδσ ον mασσ οφ τηε παρτιχλε 

(Β)  Σρ δεπενδσ ον τηε αχχελερατιον δυε το γραϖιτψ 

(Χ)  Σρ δεπενδσ ον τανγεντιαλ ϖελοχιτψ οφ τηε παρτιχλε 

(D)  Σρ δεπενδσ ον τηε ραδιαλ λοχατιον ( ρ ) οφ τηε παρτιχλε 

 

 

Θ.8 Α ϖερτιχαλ χψλινδριχαλ ϖεσσελ ηασ α λαψερ οφ κεροσενε (οφ δενσιτψ 800 κγ/m3) οϖερ α λαψερ οφ ωατερ (οφ 

δενσιτψ 1000 κγ/m3).  Λ−σηαπεδ γλασσ τυβεσ αρε χοννεχτεδ το τηε χολυmν 30 χm απαρτ.  Τηε ιντερφαχε 

βετωεεν τηε τωο λαψερσ λιεσ βετωεεν τηε τωο ποιντσ ατ ωηιχη τηε Λ−τυβεσ αρε χοννεχτεδ. Τηε λεϖελσ 

(ιν χm) το ωηιχη τηε λιθυιδσ ρισε ιν τηε ρεσπεχτιϖε τυβεσ αρε σηοων ιν τηε φιγυρε βελοω. 

 

 
 

Τηε διστανχε (ξ ιν χm, ρουνδεδ οφφ το τηε φιρστ δεχιmαλ πλαχε) οφ τηε ιντερφαχε φροm τηε ποιντ ατ 

ωηιχη τηε λοωερ Λ−τυβε ισ χοννεχτεδ ισ _______ 

 

Θ.9 Α χοmποσιτε ωαλλ ισ mαδε οφ φουρ διφφερεντ mατεριαλσ οφ χονστρυχτιον ιν τηε φασηιον σηοων βελοω. 

Τηε ρεσιστανχε (ιν Κ/W) οφ εαχη οφ τηε σεχτιονσ οφ τηε ωαλλ ισ ινδιχατεδ ιν τηε διαγραm. 

 

  
 

Τηε οϖεραλλ ρεσιστανχε (ιν Κ/W, ρουνδεδ οφφ το τηε φιρστ δεχιmαλ πλαχε) οφ τηε χοmποσιτε ωαλλ, ιν τηε 

διρεχτιον οφ ηεατ φλοω, ισ _______ 

Κεροσενε

Wατερ

ξ

20

30 42

3

0.25

1

0.7Dιρεχτιον οφ ηεατ φλοω Dιρεχτιον οφ ηεατ φλοω
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Θ.10 Στεαm ατ 100οΧ ισ χονδενσινγ ον α ϖερτιχαλ στεελ πλατε. Τηε χονδενσατε φλοω ισ λαmιναρ. Τηε αϖεραγε 

Νυσσελτ νυmβερσ αρε Νυ1 ανδ Νυ2, ωηεν τηε πλατε τεmπερατυρεσ αρε 10οΧ ανδ 55οΧ, ρεσπεχτιϖελψ. 

Ασσυmε τηε πηψσιχαλ προπερτιεσ οφ τηε φλυιδ ανδ στεελ το ρεmαιν χονσταντ ωιτηιν τηε τεmπερατυρε 

ρανγε οφ ιντερεστ. Υσινγ Νυσσελτ εθυατιονσ φορ φιλm−τψπε χονδενσατιον, ωηατ ισ τηε ϖαλυε οφ τηε ρατιο  NuʹNuͳ? 

(Α)  0.5 (Β)  0.84 (Χ)   1.19 (D)   1.41 

 

 

Θ.11 Α βιναρψ λιθυιδ mιξτυρε οφ βενζενε ανδ τολυενε χονταινσ 20 mολ% οφ βενζενε. Ατ 350 Κ τηε ϖαπουρ 

πρεσσυρεσ οφ πυρε βενζενε ανδ πυρε τολυενε αρε 92 κΠα ανδ 35 κΠα, ρεσπεχτιϖελψ. Τηε mιξτυρε 

φολλοωσ Ραουλτ�σ λαω. Τηε εθυιλιβριυm ϖαπουρ πηασε mολε φραχτιον (ρουνδεδ οφφ το τηε σεχονδ 

δεχιmαλ πλαχε) οφ βενζενε ιν χονταχτ ωιτη τηισ λιθυιδ mιξτυρε ατ 350 Κ ισ _______ 

 

 

Θ.12 Ματχη τηε διmενσιονλεσσ νυmβερσ ιν Group-1 ωιτη τηε ρατιοσ ιν Group-2.  

 

 Group-1  Group-2 

Π Βιοτ νυmβερ Ι 
buoyancy forcevi⇋cou⇋ force  

Θ Σχηmιδτ νυmβερ ΙΙ 
in⇌ernal ⇌hermal re⇋i⇋⇌ance of a ⇋olidboundary layer ⇌hermal re⇋i⇋⇌ance  

Ρ Γρασηοφ νυmβερ ΙΙΙ
momen⇌um diffu⇋ivi⇌yma⇋⇋ diffu⇋ivi⇌y  

 

(Α)   Π−ΙΙ, Θ−Ι, Ρ−ΙΙΙ (Β)   Π−Ι, Θ−ΙΙΙ, Ρ−ΙΙ 

(Χ)   Π−ΙΙΙ, Θ−Ι, Ρ−ΙΙ (D)   Π−ΙΙ, Θ−ΙΙΙ, Ρ−Ι 

 

 

Θ.13 Φορ ωηατ ϖαλυε οφ Λεωισ νυmβερ, τηε ωετ−βυλβ τεmπερατυρε ανδ αδιαβατιχ σατυρατιον τεmπερατυρε αρε 

νεαρλψ εθυαλ? 

(Α)   ͲǤ͵͵ (Β)   0.5 (Χ) ͳ (D)    2 

 

 

Θ.14 Φορ α νον−χαταλψτιχ ηοmογενεουσ ρεαχτιον Α ื Β, τηε ρατε εξπρεσσιον ατ 300 Κ ισ Ȃ ଵሻିݏ஺ ሺmol mିଷݎ ൌ ଵ଴஼ಲଵାହ஼ಲ, ωηερε ܥ஺ ισ τηε χονχεντρατιον οφ Α (ιν mολ/m3). Τηεορετιχαλλψ, τηε 

υππερ λιmιτ φορ τηε mαγνιτυδε οφ τηε ρεαχτιον ρατε (Ȃ  ଵ, ρουνδεδ οφφ το τηε φιρστିݏ஺ ιν  mol mିଷݎ

δεχιmαλ πλαχε) ατ 300 Κ ισ _______ 
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Θ.15 Τηε ϖαριατιονσ οφ τηε χονχεντρατιονσ (ΧΑ, ΧΡ ανδ ΧΣ) φορ τηρεε σπεχιεσ (Α, Ρ ανδ Σ) ωιτη τιmε, ιν αν 

ισοτηερmαλ ηοmογενεουσ βατχη ρεαχτορ αρε σηοων ιν τηε φιγυρε βελοω. 

 
Σελεχτ τηε ρεαχτιον σχηεmε τηατ χορρεχτλψ ρεπρεσεντσ τηε αβοϖε πλοτ. Τηε νυmβερσ ιν τηε ρεαχτιον 

σχηεmεσ σηοων βελοω, ρεπρεσεντ τηε φιρστ ορδερ ρατε χονσταντσ ιν υνιτ οφ σ挑1.  

 

  (Α)    (Β)  

 
  (Χ)  

 

  (D)  

 

 

 

 

 

Θ.17 Ματχη τηε ινστρυmεντσ ιν Group-1 ωιτη προχεσσ ϖαριαβλεσ ιν Group-2.  

 

 

 

 

        Group-1  Group-2 

Π      Χονδυχτιϖιτψ mετερ Ι     Φλοω 

Θ      Τυρβινε mετερ ΙΙ     Πρεσσυρε 

Ρ      Πιεζορεσιστιϖιτψ ελεmεντ ΙΙΙ     Χοmποσιτιον 
 

(Α)   Π−ΙΙ, Θ−Ι, Ρ−ΙΙΙ (Β)   Π−ΙΙ, Θ−ΙΙΙ, Ρ−Ι 

(Χ)   Π−ΙΙΙ, Θ−ΙΙ, Ρ−Ι (D)   Π−ΙΙΙ, Θ−Ι, Ρ−ΙΙ 

 

0

0.5

1

Χ
ο
ν
χε
ν
τρ
α
τι
ο
ν

 (m
ο
λ/
m

3
)

τ (σ)

ΧΡ, ΧΣ

ΧΑ

A

S

R

A

S

R

A

S

R

A

S

R

Θ.16 Ηψδρογεν ιοδιδε δεχοmποσεσ τηρουγη τηε ρεαχτιον 2ΗΙ ֕ Η2 + Ι2. Τηε ϖαλυε οφ τηε υνιϖερσαλ γασ 

χονσταντ Ρ ισ 8.314 ϑ mολ挑1Κ挑1. Τηε αχτιϖατιον ενεργψ φορ τηε φορωαρδ ρεαχτιον ισ 184000 ϑ mολ挑1. 

Τηε ρατιο (ρουνδεδ οφφ το τηε φιρστ δεχιmαλ πλαχε) οφ τηε φορωαρδ ρεαχτιον ρατε ατ 600 Κ το τηατ ατ 550 

Κ ισ _______ 
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Θ.18 Wηατ ισ τηε ορδερ οφ ρεσπονσε εξηιβιτεδ βψ α Υ−τυβε mανοmετερ? 

(Α)   Ζερο ορδερ  (Β)   Φιρστ ορδερ  

(Χ)   Σεχονδ ορδερ (D)   Τηιρδ ορδερ 

 

 

Θ.19 Α σψστεm εξηιβιτσ ινϖερσε ρεσπονσε φορ α υνιτ στεπ χηανγε ιν τηε ινπυτ. Wηιχη ονε οφ τηε φολλοωινγ 

στατεmεντ mυστ νεχεσσαριλψ βε σατισφιεδ? 

(Α)   Τηε τρανσφερ φυνχτιον οφ τηε σψστεm ηασ ατ λεαστ ονε νεγατιϖε πολε 

(Β)   Τηε τρανσφερ φυνχτιον οφ τηε σψστεm ηασ ατ λεαστ ονε ποσιτιϖε πολε 

(Χ)   Τηε τρανσφερ φυνχτιον οφ τηε σψστεm ηασ ατ λεαστ ονε νεγατιϖε ζερο 

(D)   Τηε τρανσφερ φυνχτιον οφ τηε σψστεm ηασ ατ λεαστ ονε ποσιτιϖε ζερο 

 

 

Θ.20 Τωο δεσιγν οπτιονσ φορ α διστιλλατιον σψστεm αρε βεινγ χοmπαρεδ βασεδ ον τηε τοταλ αννυαλ χοστ. 

Ινφορmατιον αϖαιλαβλε ισ ασ φολλοωσ: 

 

 Option P Option Q 

Ινσταλλεδ χοστ οφ τηε σψστεm (Ρσ ιν λακησ) 150 120 

Χοστ οφ χοολινγ ωατερ φορ χονδενσερ (Ρσ ιν λακησ/ψεαρ) 6 8 

Χοστ οφ στεαm φορ ρεβοιλερ (Ρσ ιν λακησ/ψεαρ) 16 20 

      

Τηε αννυαλ φιξεδ χηαργε αmουντσ το 12% οφ τηε ινσταλλεδ χοστ. Βασεδ ον τηε αβοϖε ινφορmατιον, 

ωηατ ισ τηε τοταλ αννυαλ χοστ (Ρσ ιν λακησ /ψεαρ) οφ τηε βεττερ οπτιον? 

(Α)   40 (Β)   42.4 (Χ)    92 (D)    128 

 

 

Θ.21 Στανδαρδ πιπεσ οφ διφφερεντ σχηεδυλε νυmβερσ ανδ στανδαρδ τυβεσ οφ διφφερεντ ΒWΓ νυmβερσ αρε 

αϖαιλαβλε ιν τηε mαρκετ. Φορ α πιπε / τυβε οφ α γιϖεν νοmιναλ διαmετερ, ωηιχη ονε οφ τηε φολλοωινγ 

στατεmεντσ ισ ΤΡΥΕ?  

(Α) Wαλλ τηιχκνεσσ ινχρεασεσ ωιτη ινχρεασε ιν βοτη τηε σχηεδυλε νυmβερ ανδ τηε ΒWΓ νυmβερ 

(Β) Wαλλ τηιχκνεσσ ινχρεασεσ ωιτη ινχρεασε ιν τηε σχηεδυλε νυmβερ ανδ δεχρεασεσ ωιτη ινχρεασε ιν 

     τηε ΒWΓ νυmβερ 

(Χ) Wαλλ τηιχκνεσσ δεχρεασεσ ωιτη ινχρεασε ιν βοτη τηε σχηεδυλε νυmβερ ανδ τηε ΒWΓ νυmβερ 

(D) Νειτηερ τηε σχηεδυλε νυmβερ, νορ τηε ΒWΓ νυmβερ ηασ ανψ ρελατιον το ωαλλ τηιχκνεσσ 

 

 

Θ.22 Τερmσ υσεδ ιν ενγινεερινγ εχονοmιχσ ηαϖε στανδαρδ δεφινιτιονσ ανδ ιντερπρετατιονσ. Wηιχη ονε οφ 

τηε φολλοωινγ στατεmεντσ ισ ΙΝΧΟΡΡΕΧΤ? 

(Α)    Τηε προφιταβιλιτψ mεασυρε �ρετυρν ον ινϖεστmεντ� δοεσ νοτ χονσιδερ τηε τιmε ϖαλυε οφ mονεψ 

(Β)   Α χοστ ινδεξ ισ αν ινδεξ ϖαλυε φορ α γιϖεν τιmε σηοωινγ τηε χοστ ατ τηατ τιmε ρελατιϖε το α 

χερταιν βασε τιmε 

(Χ)   Τηε �σιξ−τεντησ φαχτορ ρυλε� ισ υσεδ το εστιmατε τηε χοστ οφ αν εθυιπmεντ φροm τηε χοστ οφ α 

σιmιλαρ εθυιπmεντ ωιτη α διφφερεντ χαπαχιτψ 

(D)   Παψβαχκ περιοδ ισ χαλχυλατεδ βασεδ ον τηε παψβαχκ τιmε φορ τηε συm οφ τηε φιξεδ ανδ τηε 

ωορκινγ χαπιταλ ινϖεστmεντ 

 

 

Θ.23 Ινδια ηασ νο ελεmενταλ συλπηυρ δεποσιτσ τηατ χαν βε εχονοmιχαλλψ εξπλοιτεδ. Ιν Ινδια, ωηιχη ονε οφ 

τηε φολλοωινγ ινδυστριεσ προδυχεσ ελεmενταλ συλπηυρ ασ α βψ−προδυχτ? 

(Α)  Χοαλ χαρβονισατιον πλαντσ (Β)  Πετρολευm ρεφινεριεσ 

(Χ)  Παπερ ανδ πυλπ ινδυστριεσ (D)  Ιρον ανδ στεελ mακινγ πλαντσ 
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Θ.24 Τωο παπερ πυλπ πλαντσ Π ανδ Θ υσε τηε σαmε θυαλιτψ οφ βαmβοο ασ α ραω mατεριαλ. Τηε χηεmιχαλσ 

υσεδ ιν τηειρ διγεστερ αρε ασ φολλοωσ: 

 

 Plant P Plant Q 

ΝαΟΗ Ψεσ Νο 

Να2Σ Ψεσ Νο 

Να2ΧΟ3 Ψεσ Ψεσ

ΝαΗΧΟ3 Νο Ψεσ 

Να2ΣΟ3 Νο Ψεσ 

 

Wηιχη ονε οφ τηε φολλοωινγ στατεmεντσ ισ ΧΟΡΡΕΧΤ? 

(Α)   Πλαντ Π ανδ Πλαντ Θ βοτη υσε τηε Συλφιτε προχεσσ 

(Β)   Πλαντ Π ανδ Πλαντ Θ βοτη υσε τηε Κραφτ προχεσσ 

(Χ)   Πλαντ Π υσεσ Συλφιτε προχεσσ 

(D)   Πλαντ Π υσεσ Κραφτ προχεσσ 

 

 

Θ.25 Ματχη τηε ινδυστριαλ προχεσσεσ ιν Group-1, ωιτη τηε χαταλψστ mατεριαλσ ιν Group-2.   

 

  Group-1  Group-2 

Π Ετηψλενε πολψmερισατιον Ι Νιχκελ 

Θ Πετρολευm φεεδστοχκ χραχκινγ ΙΙ ςαναδιυm πεντοξιδε 

Ρ Οξιδατιον οφ ΣΟ2 το ΣΟ3 ΙΙΙ Ζεολιτε

Σ Ηψδρογενατιον οφ οιλ 

 

Ις Αλυmινιυm τριετηψλ ωιτη τιτανιυm χηλοριδε προmοτερ 

 

(Α)   Π−Ις, Θ−ΙΙΙ, Ρ−ΙΙ, Σ−Ι (Β)   Π−Ι, Θ−Ις, Ρ−ΙΙΙ, Σ−ΙΙ 

(Χ)   Π−Ι, Θ−ΙΙ, Ρ−ΙΙΙ, Σ−Ις (D)   Π−ΙΙ, Θ−ΙΙΙ, Ρ−Ις, Σ−Ι 

 

 

Q. 26 – Q. 55 carry two marks each. 

 

Θ.26 Α σετ οφ σιmυλτανεουσ λινεαρ αλγεβραιχ εθυατιονσ ισ ρεπρεσεντεδ ιν α mατριξ φορm ασ σηοων βελοω.  

1

2

3

4

5

0 0 0 4 13 46

2 5 5 2 10 161

0 0 2 5 3 61

0 0 0 4 5 30

2 3 2 1 5 81

ξ

ξ

ξ

ξ

ξ

    
    
    
    
    
    
          

Τηε ϖαλυε (ρουνδεδ οφφ το τηε νεαρεστ ιντεγερ) οφ 3ξ  ισ _______ 

 

Θ.27 
Wηατ ισ τηε σολυτιον φορ τηε σεχονδ ορδερ διφφερεντιαλ εθυατιον 

2

2
0,

δ ψ
ψ

δξ
  ωιτη τηε ινιτιαλ 

χονδιτιονσ 
0

5
ξ

ψ

 ανδ 

0

10
ξ

δψ

δξ 

  ? 

(Α)   
5 10σινψ ξ   (Β)  

5χοσ 5σινψ ξ ξ   

(Χ)   
5χοσ 10ψ ξ ξ   (D)  

5χοσ 10σινψ ξ ξ   
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Θ.28 Τηε mοδελ 2ψ mξ  ισ το βε φιτ το τηε δατα γιϖεν βελοω. 

 

ξ  1 2  3  

ψ 2 5  8  

 

Υσινγ λινεαρ ρεγρεσσιον, τηε ϖαλυε (ρουνδεδ οφφ το τηε σεχονδ δεχιmαλ πλαχε) οφ m ισ _______ 

 

 

Θ.29 Τηε Λαγρανγε mεαν−ϖαλυε τηεορεm ισ σατισφιεδ φορ   3 5φ ξ ξ  , ιν τηε ιντερϖαλ  1, 4 ατ α ϖαλυε 

(ρουνδεδ οφφ το τηε σεχονδ δεχιmαλ πλαχε) οφ ξ εθυαλ το _______ 

 

 

Θ.30 ςαλυεσ οφ  φ ξ ιν τηε ιντερϖαλ [0, 4] αρε γιϖεν βελοω. 

 
ξ 0 1 2 3 4 

 φ ξ  3 10 21 36 55

 

Υσινγ Σιmπσον�σ 1/3 ρυλε ωιτη α στεπ σιζε οφ 1, τηε νυmεριχαλ αππροξιmατιον (ρουνδεδ οφφ το τηε 

σεχονδ δεχιmαλ πλαχε) οφ  
4

0

φ ξ δξ  ισ _______ 

 

Θ.31 Α ϕαχκετεδ στιρρεδ τανκ ωιτη α προϖισιον φορ ηεατ ρεmοϖαλ ισ υσεδ το mιξ συλπηυριχ αχιδ ανδ ωατερ ιν 

α στεαδψ στατε φλοω προχεσσ. Η2ΣΟ4 (λ) εντερσ ατ α ρατε οφ 4 κγ/η ατ 25
ο
Χ ανδ Η2Ο (λ) εντερσ ατ α ρατε 

οφ 6 κγ/η ατ 10οΧ.  Τηε φολλοωινγ δατα αρε αϖαιλαβλε: 

 

Σπεχιφιχ ηεατ χαπαχιτψ οφ ωατερ = 4.2 κϑ κγ挑1Κ挑1. 

Σπεχιφιχ ηεατ χαπαχιτψ οφ αθυεουσ σολυτιον οφ 40 mασσ% Η2ΣΟ4 = 2.8 κϑ (κγ σολυτιον)挑1 Κ挑1. 

Ασσυmε τηε σπεχιφιχ ηεατ χαπαχιτιεσ το βε ινδεπενδεντ οφ τεmπερατυρε. 

Βασεδ ον ρεφερενχε στατεσ οφ Η2ΣΟ4 (λ) ανδ Η2Ο (λ) ατ 25οΧ, τηε ηεατ οφ mιξινγ φορ αθυεουσ σολυτιον 

οφ 40 mασσ% Η2ΣΟ4 = 挑 650 κϑ (κγ Η2ΣΟ4)
挑1. 

 

Ιφ τηε mιξεδ στρεαm λεαϖεσ ατ 40οΧ, ωηατ ισ τηε ρατε οφ ηεατ ρεmοϖαλ (ιν κϑ/η)? 

(Α)   1802 (Β)   2558 (Χ)    5702 (D)    6458 

 

 

Θ.32 Αν ιδεαλ γασ ισ αδιαβατιχαλλψ ανδ ιρρεϖερσιβλψ χοmπρεσσεδ φροm 3 βαρ ανδ 300 Κ το 6 βαρ ιν α χλοσεδ 

σψστεm. Τηε ωορκ ρεθυιρεδ φορ τηε ιρρεϖερσιβλε χοmπρεσσιον ισ 1.5 τιmεσ τηε ωορκ τηατ ισ ρεθυιρεδ φορ 

ρεϖερσιβλε χοmπρεσσιον φροm τηε σαmε ινιτιαλ τεmπερατυρε ανδ πρεσσυρε το τηε σαmε φιναλ πρεσσυρε. 

Τηε mολαρ ηεατ χαπαχιτψ οφ τηε γασ ατ χονσταντ ϖολυmε ισ 30 ϑ mολ挑1 Κ挑1 (ασσυmεδ το βε ινδεπενδεντ 

οφ τεmπερατυρε); υνιϖερσαλ γασ χονσταντ, Ρ ισ 8.314 ϑ mολ挑1 Κ挑1; ρατιο οφ mολαρ ηεατ χαπαχιτιεσ ισ 

1.277. Τηε τεmπερατυρε (ιν Κ, ρουνδεδ οφφ το τηε φιρστ δεχιmαλ πλαχε) οφ τηε γασ ατ τηε φιναλ στατε ιν 

τηε ιρρεϖερσιβλε χοmπρεσσιον χασε ισ _______ 
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Θ.33 Α γασ οβεψινγ τηε Χλαυσιυσ εθυατιον οφ στατε ισ ισοτηερmαλλψ χοmπρεσσεδ φροm 5 ΜΠα το 15 ΜΠα ιν 

α χλοσεδ σψστεm ατ 400 Κ.  Τηε Χλαυσιυσ εθυατιον οφ στατε ισ ܲ ൌ ோ்௩ି௕ሺ்ሻ ωηερε Π ισ τηε πρεσσυρε, Τ ισ 

τηε τεmπερατυρε, ݒ ισ τηε mολαρ ϖολυmε ανδ Ρ ισ τηε υνιϖερσαλ γασ χονσταντ.  Τηε παραmετερ β ιν τηε 

αβοϖε εθυατιον ϖαριεσ ωιτη τεmπερατυρε ασ ܾሺܶሻ  ൌ   ܾ଴  ൅  ܾଵܶ ωιτη ܾ଴  ൌ Ͷ ൈ ͳͲିହ m3mολ挑1 ανδ

 ܾଵ ൌ  ͳǤ͵ͷ ൈ ͳͲି଻ m3mολ挑1Κ挑1. Τηε εφφεχτ οφ πρεσσυρε ον τηε mολαρ εντηαλπψ (η) ατ α χονσταντ 

τεmπερατυρε ισ γιϖεν βψ ቀడ௛డ௉ቁ் ൌ ݒ െ ܶ ቀడ௩డ்ቁ௉. Λετ ηι ανδ ηφ δενοτε τηε ινιτιαλ ανδ φιναλ mολαρ 

εντηαλπιεσ, ρεσπεχτιϖελψ. Τηε χηανγε ιν τηε mολαρ εντηαλπψ ௙݄ െ ݄௜ (ιν ϑ mολ挑1, ρουνδεδ οφφ το τηε 

φιρστ δεχιmαλ πλαχε) φορ τηισ προχεσσ ισ _______ 

 

 

Θ.34 Α βιναρψ σψστεm ατ α χονσταντ πρεσσυρε ωιτη σπεχιεσ �1� ανδ �2� ισ δεσχριβεδ βψ τηε τωο−συφφιξ 

Μαργυλεσ εθυατιον, 
௚ಶோ் ൌ ଶݔଵݔ͵ ǡωηερε ݃ா ισ τηε mολαρ εξχεσσ Γιββσ φρεε ενεργψ, Ρ ισ τηε υνιϖερσαλ 

γασ χονσταντ, Τ ισ τηε τεmπερατυρε ανδ ݔଵ, ݔଶ αρε τηε mολε φραχτιονσ οφ σπεχιεσ 1 ανδ 2, ρεσπεχτιϖελψ.  

  

Ατ α τεmπερατυρε Τ,  ௚భோ் = 1 ανδ 
௚మோ் = 2, ωηερε ݃ଵ ανδ ݃ଶ αρε τηε mολαρ Γιββσ φρεε ενεργιεσ οφ πυρε 

σπεχιεσ 1 ανδ 2, ρεσπεχτιϖελψ. Ατ τηε σαmε τεmπερατυρε, ݃ ρεπρεσεντσ τηε mολαρ Γιββσ φρεε ενεργψ οφ 

τηε mιξτυρε.  Φορ α βιναρψ mιξτυρε ωιτη 40 mολε % οφ σπεχιεσ 1, τηε ϖαλυε (ρουνδεδ οφφ το τηε 

σεχονδ δεχιmαλ πλαχε) οφ  
௚ோ் ισ _______ 

 

 

Θ.35 Wατερ (δενσιτψ=1000 κγ m挑3) ισ πυmπεδ ατ α ρατε οφ 36 m3/η, φροm α τανκ 2 m βελοω τηε πυmπ, το αν 

οϖερηεαδ πρεσσυριζεδ ϖεσσελ 10 m αβοϖε τηε πυmπ. Τηε πρεσσυρε ϖαλυεσ ατ τηε ποιντ οφ συχτιον φροm 

τηε βοττοm τανκ ανδ ατ τηε δισχηαργε ποιντ το τηε οϖερηεαδ ϖεσσελ αρε 120 κΠα ανδ 240 κΠα, 

ρεσπεχτιϖελψ.  Αλλ πιπεσ ιν τηε σψστεm ηαϖε τηε σαmε διαmετερ. Τακε αχχελερατιον δυε το γραϖιτψ,  

γ = 10 m σ挑2. Νεγλεχτινγ φριχτιοναλ λοσσεσ, ωηατ ισ τηε ποωερ (ιν κW) ρεθυιρεδ το δελιϖερ τηε φλυιδ? 

(Α)   1.2 (Β)   2.4 (Χ)    3.6 (D)    4.8 

 

 

 

Θ.36 Αν αγιτατεδ χψλινδριχαλ ϖεσσελ ισ φιττεδ ωιτη βαφφλεσ ανδ φλατ βλαδε ιmπελλερσ. Τηε ποωερ νυmβερ φορ 

τηισ σψστεm ισ γιϖεν βψ ௣ܰ ൌ ௉ఘ௡య஽ఱ  ωηερε Π ισ τηε ποωερ χονσυmεδ φορ τηε mιξινγ, と ισ τηε 

δενσιτψ οφ τηε φλυιδ, ν ισ τηε σπεεδ οφ τηε ιmπελλερ ανδ D ισ τηε διαmετερ οφ τηε ιmπελλερ. Τηε 

διαmετερ οφ τηε ιmπελλερ ισ 1/3ρδ τηε διαmετερ οφ τηε τανκ ανδ τηε ηειγητ οφ λιθυιδ λεϖελ ισ εθυαλ το τηε 

τανκ διαmετερ. Τηε ιmπελλερ σπεεδ το αχηιεϖε τηε δεσιρεδ δεγρεε οφ mιξινγ ισ 4 ρπm. Ιν α σχαλεδ υπ 

δεσιγν, τηε λινεαρ διmενσιονσ οφ τηε εθυιπmεντ αρε το βε δουβλεδ, ηολδινγ τηε ποωερ ινπυτ περ υνιτ 

ϖολυmε χονσταντ. Ασσυmινγ τηε λιθυιδ το βε Νεωτονιαν ανδ ௣ܰ το βε ινδεπενδεντ οφ Ρεψνολδσ 

νυmβερ, ωηατ ισ τηε ιmπελλερ σπεεδ (ιν ρπm) το αχηιεϖε τηε σαmε δεγρεε οφ mιξινγ ιν τηε σχαλεδ υπ 

ϖεσσελ? 

(Α)   0.13 (Β)  1.26  (Χ)  2.52   (D)  3.82   

 

 

Θ.37 Χονσιδερ α ριγιδ σολιδ σπηερε φαλλινγ ωιτη α χονσταντ ϖελοχιτψ ιν α φλυιδ. Τηε φολλοωινγ δατα αρε 

κνοων ατ τηε χονδιτιονσ οφ ιντερεστ: ϖισχοσιτψ οφ τηε φλυιδ = 0.1 Πα σ, αχχελερατιον δυε το γραϖιτψ  = 

10 m σ
挑2

, δενσιτψ οφ τηε παρτιχλε = 1180 κγ m
挑3

 ανδ δενσιτψ οφ τηε φλυιδ = 1000 κγ m
挑3

. Τηε διαmετερ 

(ιν mm, ρουνδεδ οφφ το τηε σεχονδ δεχιmαλ πλαχε) οφ τηε λαργεστ σπηερε τηατ σεττλεσ ιν τηε Στοκεσ� λαω 

ρεγιmε (Ρεψνολδσ νυmβερ ൑ 0.1), ισ _______ 
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Θ.38 Τηε χηαραχτεριστιχσ χυρϖε (Ηεαδ � Χαπαχιτψ ρελατιονσηιπ) οφ α χεντριφυγαλ πυmπ ισ ρεπρεσεντεδ βψ τηε 

εθυατιον οܪ୮୳୫୮  ൌ Ͷ͵Ǥͺ െ ͲǤͳͻܳ , ωηερε οܪ୮୳୫୮ ισ τηε ηεαδ δεϖελοπεδ βψ τηε πυmπ (ιν m) ανδ 

Θ ισ τηε φλοωρατε (ιν m3/η) τηρουγη τηε πυmπ. Τηισ πυmπ ισ το βε υσεδ φορ πυmπινγ ωατερ τηρουγη α 

ηοριζονταλ πιπελινε. Τηε φριχτιοναλ ηεαδ λοσσ οܪpiping  (ιν m) ισ ρελατεδ το τηε ωατερ φλοωρατε ܳ௅  (ιν 

m3/η) βψ τηε εθυατιον οܪ୮୧୮୧୬୥  ൌ ͲǤͲͳ͵ͷܳ௅ଶ ൅ ͲǤͲͶͷܳ௅ . Τηε φλοωρατε (ιν m3/η, ρουνδεδ οφφ το τηε 

φιρστ δεχιmαλ πλαχε) οφ ωατερ πυmπεδ τηρουγη τηε αβοϖε πιπελινε, ισ _______ 

 

 

Θ.39 Wατερ φλοωσ τηρουγη α σmοοτη χιρχυλαρ πιπε υνδερ τυρβυλεντ χονδιτιονσ. Ιν τηε ϖισχουσ συβ−λαψερ, τηε 

ϖελοχιτψ ϖαριεσ λινεαρλψ ωιτη τηε διστανχε φροm τηε ωαλλ. Τηε Φαννινγ φριχτιον φαχτορ ισ δεφινεδ ασ,݂ ൌ ఛೢఘ௨ഥ మ ଶΤ   ωηερε ߬௪ ισ τηε σηεαρ στρεσσ ατ τηε ωαλλ οφ τηε πιπε, ߩ ισ τηε δενσιτψ οφ τηε φλυιδ ανδ ݑത   ισ 

τηε αϖεραγε ϖελοχιτψ ιν τηε πιπε. Wατερ (δενσιτψ = 1000 κγ m挑3, ϖισχοσιτψ = 1ൈ10挑3 κγ m挑1 σ挑1) φλοωσ 

ατ αν αϖεραγε ϖελοχιτψ οφ 1 m σ挑1 τηρουγη τηε πιπε. Φορ τηισ φλοω χονδιτιον, τηε φριχτιον φαχτορ φ ισ 

0.005. Ατ α διστανχε οφ 0.05 mm φροm τηε ωαλλ οφ τηε πιπε (ιν τηε ϖισχουσ συβ−λαψερ), τηε ϖελοχιτψ (ιν 

m σ挑1,  ρουνδεδ οφφ το τηε τηιρδ δεχιmαλ πλαχε), ισ _______ 

 

Θ.40 Ιν α 1−1 πασσ σηελλ ανδ τυβε εξχηανγερ, στεαm ισ χονδενσινγ ιν τηε σηελλ σιδε ατ α τεmπερατυρε (Τσ) οφ 

135οΧ ανδ τηε χολδ φλυιδ ισ ηεατεδ φροm α τεmπερατυρε (Τ1)
 οφ 20οΧ το α τεmπερατυρε (Τ2

 ) οφ 90οΧ. 

Τηε ενεργψ βαλανχε εθυατιον φορ τηισ ηεατ εξχηανγερ ισ  

  

1

2

λν σ

σ π

Τ Τ ΥΑ

Τ Τ mχ




 
 

ωηερε Υ  ισ τηε οϖεραλλ ηεατ τρανσφερ χοεφφιχιεντ, Α ισ τηε ηεατ τρανσφερ αρεα, m ισ τηε mασσ φλοω ρατε 

οφ τηε χολδ φλυιδ ανδ 
πχ ισ ιτσ σπεχιφιχ ηεατ. Τυβε σιδε φλυιδ ισ ιν α τυρβυλεντ φλοω ανδ τηε ηεατ   

τρανσφερ χοεφφιχιεντ χαν βε εστιmατεδ φροm τηε φολλοωινγ εθυατιον:  
0.8 1/3Νυ 0.023 (Ρε) (Πρ)  

ωηερε Νυ ισ τηε Νυσσελτ νυmβερ, Ρε ισ τηε Ρεψνολδσ νυmβερ ανδ Πρ ισ τηε Πρανδτλ νυmβερ. Τηε 

χονδενσινγ ηεατ τρανσφερ χοεφφιχιεντ ιν τηε σηελλ σιδε ισ σιγνιφιχαντλψ ηιγηερ τηαν τηε τυβε σιδε ηεατ 

τρανσφερ χοεφφιχιεντ. Τηε ρεσιστανχε οφ τηε ωαλλ το ηεατ τρανσφερ ισ νεγλιγιβλε. Ιφ ονλψ τηε mασσ φλοω 

ρατε οφ τηε χολδ φλυιδ ισ δουβλεδ, ωηατ ισ τηε ουτλετ τεmπερατυρε (ιν οΧ) οφ τηε χολδ φλυιδ ατ στεαδψ 

στατε? 

(Α)   80.2 (Β)   84.2 (Χ)   87.4 (D)    88.6 
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Θ.41 Ιν αν εξπεριmενταλ σετυπ, mινεραλ οιλ ισ φιλλεδ ιν βετωεεν τηε ναρροω γαπ οφ τωο ηοριζονταλ σmοοτη 

πλατεσ. Τηε σετυπ ηασ αρρανγεmεντσ το mαινταιν τηε πλατεσ ατ δεσιρεδ υνιφορm τεmπερατυρεσ. Ατ τηεσε 

τεmπερατυρεσ, ΟΝΛΨ τηε ραδιατιϖε ηεατ φλυξ ισ νεγλιγιβλε. Τηε τηερmαλ χονδυχτιϖιτψ οφ τηε οιλ δοεσ 

νοτ ϖαρψ περχεπτιβλψ ιν τηισ τεmπερατυρε ρανγε. Χονσιδερ φουρ εξπεριmεντσ ατ στεαδψ στατε υνδερ 

διφφερεντ εξπεριmενταλ χονδιτιονσ, ασ σηοων ιν τηε φιγυρε βελοω. Τηε φιγυρε σηοωσ πλατε 

τεmπερατυρεσ ανδ τηε ηεατ φλυξεσ ιν τηε ϖερτιχαλ διρεχτιον. 

 

 
 

Wηατ ισ τηε στεαδψ στατε ηεατ φλυξ (ιν W m挑2) ωιτη τηε τοπ πλατε ατ 70οΧ ανδ τηε βοττοm πλατε ατ 

40
ο
Χ? 

(Α)   26 (Β)   39 (Χ)    42 (D)    63 

 

 

Θ.42 Τηε σπαχε βετωεεν τωο ηολλοω χονχεντριχ σπηερεσ οφ ραδιι 0.1 m ανδ 0.2 m ισ υνδερ ϖαχυυm. 

Εξχηανγε οφ ραδιατιον (υνιφορm ιν αλλ διρεχτιονσ) οχχυρσ ονλψ βετωεεν τηε ουτερ συρφαχε (Σ1) οφ τηε 

σmαλλερ σπηερε ανδ τηε ιννερ συρφαχε (Σ2) οφ τηε λαργερ σπηερε.  Τηε φραχτιον (ρουνδεδ οφφ το τηε 

σεχονδ δεχιmαλ πλαχε) οφ τηε ραδιατιον ενεργψ λεαϖινγ Σ2, ωηιχη ρεαχηεσ Σ1 ισ _______ 

 

 

Θ.43 Α βιναρψ διστιλλατιον χολυmν ισ το βε δεσιγνεδ υσινγ ΜχΧαβε Τηιελε mετηοδ. Τηε διστιλλατε χονταινσ 

90 mολ% οφ τηε mορε ϖολατιλε χοmπονεντ. Τηε ποιντ οφ ιντερσεχτιον οφ τηε θ−λινε ωιτη τηε 

εθυιλιβριυm χυρϖε ισ (0.5, 0.7). Τηε mινιmυm ρεφλυξ ρατιο (ρουνδεδ οφφ το τηε φιρστ δεχιmαλ πλαχε) φορ 

τηισ οπερατιον ισ _______ 

 

 

30Χ

60Χ

φλυξ = 39 Wm−2

Εξπεριmεντ 1

60Χ

30Χ

φλυξ = 26 Wm−2

Εξπεριmεντ 2

40Χ

70Χ

φλυξ = 42 Wm−2

Εξπεριmεντ 3

70Χ

40Χ

Εξπεριmεντ 4

φλυξ = ? Wm−2
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Θ.44 Σολυτ

Τηε 

ποιντ

χυρϖε

 

Wηα

(Α)   

Θ.45 Ατ 30

κγ αχ

οφ αχ

χαρβο

(Α)   

Θ.46 Χονσ

χονδ

χουν

πρεσσ

τηε Φ

ιν Χα

(Α)   

Θ.47 Τηε 

στεαδ

στρεα

αρε 8

ελεm

δενσι

ισ __

τε Χ ισ εξτραχ

χοmβινεδ χο

τ Μ, αλονγ ω

ε.  

τ ισ τηε σελεχτ

3.5 

0οΧ, τηε αmου

χετονε/κγ αχτ

χετονε ον αχτι

ον) ατ α παρτια

0.23 

σιδερ τηε φολλο

διτιονσ. Ιν Χα

ντερ διφφυσιον 

συρεσ οφ Α ατ 

Φιχκ�σ φιρστ λαω

ασε 2? 

0.58 

λιθυιδ πηασε 

δψ στατε χονδι

m ισ 10 mολ/

8 mολ/λιτ ανδ

mενταρψ φολλοω

ιτψ. Τηε ρατε 

______ 

χτεδ ιν α βατχη

mποσιτιον οφ 

ωιτη τηε τιε λιν

ιϖιτψ φορ Χ? 

(Β)   7 

υντσ οφ αχετον

τιϖατεδ χαρβον

ιϖατεδ χαρβον

αλ πρεσσυρε οφ 

(Β)   0

οωινγ τωο χα

ασε 1, τηε διφ

οφ Α ανδ Β ο

τωο ποιντσ σε

ω οφ διφφυσιον

(Β)   1

ρεϖερσιβλε ρεα

ιτιονσ.  Τηε ιν

λιτ.  Τηε χονχ

δ 5 mολ/λιτ, 

ωινγ τηε φιρστ

χονσταντ οφ τ

η προχεσσ φροm

φ τηε φεεδ ανδ

νε πασσινγ τηρ

νε αδσορβεδ α

ν, ρεσπεχτιϖελ

ν. Wηατ ισ τηε

φ 50 mmΗγ αν

.25 

ασεσ φορ α βιν

φφυσιον οφ Α 

οχχυρσ. Ιν βοτ

επαρατεδ βψ α

ν ισ αππλιχαβλ

.08 

αχτιον ܣ ֖ ܤ
νλετ στρεαm δο

χεντρατιονσ οφ

ρεσπεχτιϖελψ

τ ορδερ ρατε 

τηε φορωαρδ ρ

m ιτσ ηοmογε

δ τηε εξτραχτιν

ρουγη ιτ. Τηε 

(Χ)    10

ατ παρτιαλ πρεσ

λψ. Ασσυmε Λ

ε αmουντ οφ α

νδ 30οΧ? 

(Χ)   0.30

ναρψ mιξτυρε 

οχχυρσ τηρου

τη τηε χασεσ, τ

α διστανχε οφ 1

λε. Wηατ ισ τη

(Χ)    1.5

ισ χαρριεδ ο ܤ

οεσ νοτ χονται

φ Α ατ τηε ρεαχ

ψ.  Ασσυmε τ

λαω. Αλσο ασ

ρεαχτιον (ιν σ

ενουσ σολυτιον

νγ σολϖεντ ισ 

ενδσ οφ τηε τ

.5 

σσυρεσ οφ 10 α

Λανγmυιρ ισοτη

αχετονε αδσορ

0 

οφ ιδεαλ γασε

υγη νον−διφφυ

τηε τοταλ πρεσσ

10 mm αρε 10

ηε ρατιο οφ mο

58 

ουτ ιν αν ισοτη

ιν Β ανδ τηε 

χτορ εξιτ, φορ 

τηε φορωαρδ 

σσυmε τηατ τη
挑1, ρουνδεδ ο

Χηεmιχαλ Ενγ

ν οφ Α ανδ Χ,

σηοων ιν τηε

τιε λινε αρε ον

 

(D)    21 

ανδ 100 mmΗ

ηερm δεσχριβ

ρβεδ (ιν κγ πε

(D)    0.35

εσ Α ανδ Β υ

υσινγ Β. Ιν Χ

συρε ισ 100 κΠ

0 κΠα ανδ 5 κ

ολαρ φλυξ οφ Α

(D)    2.18

ηερmαλ ΧΣΤΡ

χονχεντρατιον

ρεσιδενχε τιm

ανδ βαχκωα

ηε σψστεm ηα

οφφ το τηε τηιρ

γινεερινγ 

, υσινγ σολϖεν

ε φιγυρε βελοω

ν τηε εθυιλιβρ

Ηγ αρε 0.1 ανδ

βεσ τηε αδσορπ

ερ κγ οφ αχτιϖ

 

υνδερ στεαδψ σ

Χασε 2, εθυιm

Πα ανδ τηε πα

κΠα.  Ασσυmε 

Α ιν Χασε 1 το 

 

Ρ οπερατινγ υ

ν οφ Α ιν τηε 

mεσ οφ 1 σ ανδ

αρδ ρεαχτιονσ 

ασ χονσταντ m

ρδ δεχιmαλ πλ

ντ Β. 

ω ασ 

ριυm 

δ 0.4 

πτιον 

ϖατεδ 

στατε 

mολαλ 

αρτιαλ 

τηατ 

 τηατ 

υνδερ 

ινλετ 

δ 5 σ 

αρε 

mολαρ 

λαχε) 
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Θ.48 Α λιθυιδ πηασε ιρρεϖερσιβλε ρεαχτιον ܣ ՜  ισ χαρριεδ ουτ ιν αν αδιαβατιχ ΧΣΤΡ οπερατινγ υνδερ ܤ

στεαδψ στατε χονδιτιονσ. Τηε ρεαχτιον ισ ελεmενταρψ ανδ φολλοωσ τηε φιρστ ορδερ ρατε λαω.  Φορ τηισ 

ρεαχτιον, τηε φιγυρε βελοω σηοωσ τηε χονϖερσιον (ΞΑ) οφ Α ασ α φυνχτιον οφ τεmπερατυρε (Τ) φορ 

διφφερεντ ϖαλυεσ οφ τηε ρατε οφ ρεαχτιον (െݎ஺ ιν mol mିଷ⇋ିଵ ) δενοτεδ βψ τηε νυmβερσ το τηε λεφτ οφ 

εαχη χυρϖε. Τηισ φιγυρε χαν βε υσεδ το δετερmινε τηε ρατε οφ τηε ρεαχτιον ατ α παρτιχυλαρ τεmπερατυρε, 

φορ α γιϖεν χονϖερσιον οφ Α. 

 

 

Τηε ινλετ στρεαm δοεσ νοτ χονταιν Β ανδ τηε χονχεντρατιον οφ Α ιν τηε ινλετ στρεαm ισ 5 mολ/m3.  Τηε 

mολαρ φεεδ ρατε οφ Α ισ 100 mολ/σ. Α στεαδψ στατε ενεργψ βαλανχε φορ τηισ ΧΣΤΡ ρεσυλτσ ιν τηε 

φολλοωινγ ρελατιον: ܶ ൌ ͵ͷͲ ൅ ʹͷ ஺ܺ ωηερε Τ ισ τηε τεmπερατυρε (ιν Κ) οφ τηε εξιτ στρεαm ανδ ΞΑ ισ 

τηε χονϖερσιον οφ Α ιν τηε ΧΣΤΡ.  Φορ αν εξιτ χονϖερσιον οφ 80 % οφ Α, τηε ϖολυmε (ιν m3, ρουνδεδ 

οφφ το τηε φιρστ δεχιmαλ πλαχε) οφ ΧΣΤΡ ρεθυιρεδ ισ _______ 
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Θ.49 Α πορουσ πελλετ ωιτη Πτ δισπερσεδ ιν ιτ ισ υσεδ το χαρρψ ουτ α χαταλψτιχ ρεαχτιον. Φολλοωινγ τωο 

σχεναριοσ αρε ποσσιβλε.  

 

Σχεναριο 1: Πτ πρεσεντ τηρουγηουτ τηε πορεσ οφ τηε πελλετ ισ υσεδ φορ χαταλψζινγ τηε ρεαχτιον.  

Σχεναριο 2: Πτ πρεσεντ ονλψ ιν τηε ιmmεδιατε ϖιχινιτψ οφ τηε εξτερναλ συρφαχε οφ τηε πελλετ ισ υσεδ φορ 

χαταλψζινγ τηε ρεαχτιον. 

 

Ατ α λαργε ϖαλυε οφ Τηιελε mοδυλυσ, ωηιχη ονε οφ τηε φολλοωινγ στατεmεντσ ισ ΤΡΥΕ? 

(Α)   Σινχε τηε ρεαχτιον ρατε ισ mυχη γρεατερ τηαν τηε διφφυσιον ρατε, Σχεναριο 1 οχχυρσ 

(Β)   Σινχε τηε ρεαχτιον ρατε ισ mυχη γρεατερ τηαν τηε διφφυσιον ρατε , Σχεναριο 2 οχχυρσ 

(Χ)   Σινχε τηε ρεαχτιον ρατε ισ mυχη λοωερ τηαν τηε διφφυσιον ρατε, Σχεναριο 1 οχχυρσ 

(D)   Σινχε τηε ρεαχτιον ρατε ισ mυχη λοωερ τηαν τηε διφφυσιον ρατε, Σχεναριο 2 οχχυρσ 

 

Θ.50 Α ΧΣΤΡ ηασ α λονγ ινλετ πιπε. Α τραχερ ισ ινϕεχτεδ ατ τηε εντρανχε οφ τηε πιπε. Τηε Ε−χυρϖε οβταινεδ 

ατ τηε εξιτ οφ τηε ΧΣΤΡ ισ σηοων ιν τηε φιγυρε βελοω.  

 

 
 

Ασσυmινγ πλυγ φλοω ιν τηε ινλετ πιπε, τηε ρατιο (ρουνδεδ οφφ το τηε σεχονδ δεχιmαλ πλαχε) οφ τηε 

ϖολυmε οφ τηε πιπε το τηατ οφ τηε ΧΣΤΡ ισ _______ 

 

Θ.51 Α λιθυιδ φλοωσ τηρουγη αν �εθυαλ περχενταγε� ϖαλϖε ατ α ρατε οφ 2 m3/η ωηεν τηε ϖαλϖε ισ 10% οπεν. 

Wηεν τηε ϖαλϖε οπενσ το 20% τηε φλοωρατε ινχρεασεσ το 3 m3/η. Ασσυmε τηατ τηε πρεσσυρε δροπ 

αχροσσ τηε ϖαλϖε ανδ τηε δενσιτψ οφ τηε λιθυιδ ρεmαιν χονσταντ. Wηεν τηε ϖαλϖε οπενσ το 50%, τηε 

φλοωρατε (ιν m3/η, ρουνδεδ οφφ το τηε σεχονδ δεχιmαλ πλαχε) ισ_______ 
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Θ.52 Α ΠΙ χοντρολλερ ωιτη ιντεγραλ τιmε χονσταντ οφ 0.1 mιν ισ το βε δεσιγνεδ το χοντρολ α προχεσσ ωιτη 

τρανσφερ φυνχτιον ܩ௣ሺݏሻ ൌ ͳͲݏଶ ൅ ݏʹ ൅ ͳͲͲ 

 

Ασσυmε τηε τρανσφερ φυνχτιονσ οφ τηε mεασυρινγ ελεmεντ ανδ τηε φιναλ χοντρολ ελεmεντ αρε βοτη υνιτψ ൫ܩ௠ ൌ ͳǡ ௙ܩ ൌ ͳ൯. Τηε γαιν (ρουνδεδ οφφ το τηε φιρστ δεχιmαλ πλαχε) οφ τηε χοντρολλερ τηατ ωιλλ 

χονστιτυτε τηε χριτιχαλ χονδιτιον φορ σταβιλιτψ οφ τηε ΠΙ φεεδβαχκ χοντρολ σψστεm ισ _______ 

 

Θ.53 Φορ α υνιτ στεπ ινπυτ, τηε ρεσπονσε οφ α σεχονδ ορδερ σψστεm ισ   

ሻݐሺݕ  ൌ ௣ܭ  ൥ͳ െ ͳඥͳ െ ଶߞ ݁ିഅ೟ഓ ⇋in ൭ඥͳ െ ଶ߬ߞ ݐ ൅ ߶൱൩ 
 

ωηερε,  ܭ௣  ισ τηε στεαδψ στατε γαιν, ߞ ισ τηε δαmπινγ χοεφφιχιεντ, ߬ ισ τηε νατυραλ περιοδ οφ 

οσχιλλατιον ανδ ߶ ισ τηε πηασε λαγ. Τηε οϖερσηοοτ οφ τηε σψστεm ισ exp ൬െ గ఍ඥଵି఍మ൰. Φορ α υνιτ στεπ 

ινπυτ, τηε ρεσπονσε οφ τηε σψστεm φροm αν ινιτιαλ στεαδψ στατε χονδιτιον ατ τ = 0 ισ σηοων ιν τηε φιγυρε 

βελοω.   

 
 

Wηατ ισ τηε νατυραλ περιοδ οφ οσχιλλατιον (ιν σεχονδσ) οφ τηε σψστεm?   

(Α)   15.9 (Β)   50 (Χ)    63.2 (D)   100 

 

 

Θ.54 Α ϖερτιχαλ χψλινδριχαλ τανκ ωιτη α φλατ ροοφ ανδ βοττοm ισ το βε χονστρυχτεδ φορ στορινγ 150 m3 οφ 

ετηψλενε γλψχολ. Τηε χοστ οφ mατεριαλ ανδ φαβριχατιον φορ τηε τανκ ωαλλ ισ Ρσ 6000 περ m
2
 ανδ τηε 

σαmε φορ τηε ροοφ ανδ τηε τανκ βοττοm αρε Ρσ 2000 ανδ Ρσ 4000 περ m2, ρεσπεχτιϖελψ. Τηε χοστ οφ 

αχχεσσοριεσ, πιπινγ ανδ ινστρυmεντσ χαν βε τακεν ασ 10% οφ τηε χοστ οφ τηε ωαλλ. 10% οφ τηε ϖολυmε 

οφ τηε τανκ νεεδσ το βε κεπτ φρεε ασ ϖαπουρ σπαχε αβοϖε τηε λιθυιδ στοραγε. Wηατ ισ τηε οπτιmυm 

διαmετερ (ιν m) φορ τηε τανκ? 

 (Α)   3.5 (Β)   3.9 (Χ)    7.5 (D)    7.8 
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Θ.55 Α χαταλψτιχ ρεφορmινγ πλαντ προδυχεσ ηψδρογεν ανδ βενζενε φροm χψχλοηεξανε βψ δε−ηψδρο 

αροmατισατιον. Ιν ορδερ το ινχρεασε τηε προδυχτιον οφ ηψδρογεν, τηε οωνερ πλανσ το χηανγε τηε 

προχεσσ το στεαm ρεφορmινγ οφ τηε σαmε φεεδστοχκ τηατ προδυχεσ ηψδρογεν ανδ χαρβον διοξιδε. 

Στοιχηιοmετριχαλλψ, ωηατ ισ τηε mαξιmυm ρατιο οφ πυρε ηψδρογεν προδυχεδ ιν τηε προποσεδ προχεσσ 

το τηατ ιν τηε εξιστινγ προχεσσ?  

(Α)   1 (Β)   2 (Χ)    5 (D)    6 
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